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1. Theannua salesfor Durbin Corp. were $5 millions last year. The firm's year end balance sheet
appeared as follows:

. You are supplied with the following analytical income statement for your firm. It reflects last

year’s operations:

Current asset $ 500,000 Liabilities $1,000,000
Net fixed asset __$1,500,000 Owners’ equity $1,000,000
$2,000,000 $2,000,000

Income statement for the year was as follows:

Sales $5,000,000
Less: cost of goods sold 3,000,000
Gross profit $2,000,000
Less: operating expenses 1,500,000
Operating income $500,000
Less: interest expenses 100,000
Earning before taxes $400,000
Less: taxes (40%) 160,000
Net income $240,000
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According to the information given, please answer the following questions:

(@) Cdculatetotal asset turnover, operating profit margin and operating income return on investment.

(b) Durbin plans to renovate one of its plants, which will require an added investment in plant and
machine of $1 million. The firm will maintain its debt ratio of 0.5 when financing the new
investment and expects sales to remain constant, whereas the operating profit margin will rise to
13%. What will be the new operating income return on investment for Durbin after the plant

renovation?

(c) Given that renovation in part (b) and Durbin’s interest expense rises by $40,000 per year, what will

be the return earned on the common stockholders’ investment?

e

Sdes $18,000,000

Variable cost 7,000,000
Fixed cost 6,000,000
EBIT $5,000,000
Interest expense 1,750,000
Earning before taxes $3,250,000
Taxes 1,250,000
Net Income $2,000,000

(8 What isthe degree of operating leverage?

(b) What is the degree of financial leverage?

(c) If salesshould increase by 15% by what percent would earning before taxes increase?
(d) What is the break-event point in sales dollars?

R KRS - PR ERJETRESNEE o R AP IR DR
P R LR Rl (BRI & R e 10 R T A B
GRLE ErFIE w; NP HVLE ? AR ERT > 2P £ F L L
;?—)Ilﬁaf «}

e }w
>~ T Y
ﬁ,.-n\

—_—
34 ‘g;*a

g

o B D

IRy G
4—‘—' -
<~

- a(\ﬁ-

2T HA %frvmﬁ';ﬁ o F P HAFE M
R T S ) A gR AT § <0 T

Fd ek
3
i~
R
:fgm

o~



